Beginning Greek, LG512C — Quiz 8: Chapter 34

Reneau Peurifoy
87 Points Total

1. List the five rules for pt verbs. (5 points)

Rule 1: pu verbs reduplicate their initial stem letter to form the present, and separate the
reduplicated consonant with an iota.

Rule 2: pt verbs do not ordinarily use a connecting (i.e., “thematic”) vowel in the
indicative.

Rule 3: pt verbs employ three different personal endings in the present active indicative.
Rule 4: the stem vowel of pi verbs can lengthen, shorten, or drop out (about).

Rule 5: Most of the pt verbs use xa as their tense formative in the aorist.

2. Write out the complete paradigm for 6{6wpt. (31 points, %2 point each)

Active Conjugations of 5{5wput (*50)

present imperfect future aorist perfect
S{dwut £8(8ouv Suwow £dwka Sédwka
81dwg £8180ug dwoelg £8wkag Sédwkag
§{dwat (v)  €6{dou ddoel ESwke (V) §¢8wke(V)
Sidopev £8(dopev Swoopev Eduikauev Seduwkapev
SidoTe é8idoTe dwoeTe gdukaTte SedukaTe
5188a01(v)  €8idooav Sdoouat(v)  Edwkav Sé8wkav
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Future, Aorist & Perfect Middle

Sdwoopat

None in

N.T.

None in
N.T.

Present Middle/Passive
Sidopat £818unv
Sidooat ¢6{doc0
didoTat é6i{doTo
S{dopueba £8180pueba
8(800be £6{8000¢
SidovTan ¢6{dovTo

duwon
dwoeTat
Sduwoopeba
dwoeabe

duvoovTan

Future & Aorist Passive

dobnoopar €640 nv Sédopat
dobnon €860nc¢ dédooat
dobnostar  €640n SédoTat
dobnoopeba €660 nuev 8eddpedba
doOnoecabe  €640nTe 8¢8000¢
doOnoovtar  €880noav  HédovTal



